
C1

C1 is ______ than 15 years old.

Answer: ___________________

15 years old is _______ than C1.

Answer: ___________________

C1 is ______ as 15 years old.

Answer: ___________________

15 years old is _______ as C1.

Answer: ___________________

C1 is _______ the same age as 15 years old.

Answer: ___________________

15 years old is _______ the same age as C1.

Answer: ___________________

C1 is _______ younger than 15 years old.

Answer: ___________________

15 years old is _______ younger than C1.

Answer: ___________________

C1 is _______ older than 15 years old.

Answer: ___________________

15 years old is _______ older than C1.

Answer: ___________________



Answers

C1 is ______ than 15 years old.

Answer: older

15 years old is _______ than C1.

Answer: younger

C1 is ______ as 15 years old.

Answer: not as

15 years old is _______ as C1.

Answer: not as

C1 is _______ the same age as 15 years old.

Answer: not

15 years old is _______ the same age as C1.

Answer: not

C1 is _______ younger than 15 years old.

Answer: not

15 years old is _______ younger than C1.

Answer: not

C1 is _______ older than 15 years old.

Answer: not

15 years old is _______ older than C1.

Answer: not


